RSI MACD STRATEGY

Point A:-

Firstly, the MACD Blue line is crossing the red signal line from below

And at the same time RSl reading is around 30.

In this case , both the indicators are showing a positive signal.

So here how will you make a trade decision?

Although both the indicators are showing a bullish trends, still you

Should wait for the right entry point.

Entry price :-

It is when macd is still in bullish condition(MACD blue line is above signal line) and RSI crosses the value
Of 50 from below & going up direction.

You can see entry point in below chart example :-
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Point A - entry point
Point B:-

The same MACD blue line crosses the Signal line from above and also
RSl reading at the same moment is around 60, thus the

Higher chances of a trend reversal in the next few minutes.

Similar to the above situation , when both

_ Indicators are depicting the bearish signal(MACD blue line crosses the Signal line from
above) and RSI value crosses 50 from Above then you can take the sell position in the trade.
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Point B - Exit Singal

So what do you interpret from the above analysis ?
You must take buying position at point A
And if you are already holding the position then exiting it at point B can

Help you generate good profit.



